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CorAA = Cos L{ Cos LB Cos P ! Sin LA Sin LB
= Cos 13o30'cos f @s 1l5ol5'+ sin 1350, Sio?o
= - 0.635415s46+ 0.028449833
= - 0.656955112

AD = l3 l '04 ' l  =

CqA = Cos PB CosPA C.5AB
Sin PA Sin Al

a) shon*t rcurc t rle G@r Circle

0

= Cor 83'- Cos 76'30' C$ r3l'04'
Sint650, S'n 131.04

= 0.115419a69
A = N67.56 9E

So Venq li4 ro the Ed or tbe ed po3irion.

ShPV= SinA SintA
= Sin6?'56.'9 x Sh 76'30
= o.90t2179u4

krv = 25.40'7N

C6IAx Td A

Cos7650'x t j r6 f56. '9
? = 6CF02.8

Lons A = lgE_E
v = 155. 12.'2W

SinCoP = Tmco?X TdPV
CosP -  Tehtx  TalV
Tdktx = e9!-! = CoslCF59.'8

TdlV Te64'19.3
t  x  = 25016. '0N
IltBaIl< - 24 55.'0 N
Disla@oF = 2l.0 MIes to tho Norft of the buk
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O}TIONS

- Mirihun.lrerati@ of @re is 16" to srdoud !o a
nNcolrkof 0820. Any tudne all€ntion of 6u\e in@s.s
rhe CPA up 10 a ns @use of 195'
- Midnud alterEtion of @Ge t l4o to sldboard to a
n* courc of 030o(T) Any tunnq alt€Firoo inc@es CPA up
ro a .ew @um of 010"(T)
- Minimun altdBlio. ofours is 3'lo starhodd lo q ncw
6ure of 074!(f) Any tudEr aIEFL'on of @use 'ncrelses
the C?A up 10 a -use of 163"(T).

Mininum alr@tior ofcouM at 0158 for althle etstopssarl€an2nil€sotris
6 alteration of 16' to stlrboed nq cous 0320 lT)

De$ option is to altd 9Cf to $dbodd since this will be @dily rpprent 10 a !€s*l
observing by Ride alobe, ed will also .etaln the mdoawabiluy oflhe ve$el.
AlthouS! qe sc altsing lowdds a vessel aba{t Oe b@h, rhe tul€s sy d fd 6 n
posible il is !o be avode!, dd in Lhis 6e ou oplions &e lihited. fwe do alter 90P
lo stsboed. theD the CPA s will b€ s follows:

okturVsl.A5 &d Vsl B, bDr eri!8towa& VslC
Nol OK lor vsls A and D, OK for C
OK for vsl B, but reduces CPA Vsls A ed C
Collision Vsl 4 OK Vsl B, v clos qusrrds with Vsl C

1.8
Tdge! B

If we try e altemalive of leaving lhe avoiding rciion !.1i1 Tdg€t c is ast@r
thereby rvoidrg $e problm of alEring rowuds d vessl !b6n the b@i4 this action
Mll not b€ tatd unt,l 0431. By this dme, T{gets A ed B will be psed their
CPAt and wiU have DsF! vithin 2 niles ofus lldeforc the acrion snould be
lalen m @ly as possible.
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